

A Bulk Arrival Retrial Queue with Starting Failures and Exponentially Distributed Multiple Working Vacation

S. Pazhani Bala Murugan

*Mathematics Section, Faculty of Engineering and Technology,
Annamalai University, Annamalainagar, Tamilnadu, India.*

Email: spbm1966@gmail.com

R. Vijaykrishnaraj

Department of Mathematics, Annamalai University, Annamalainagar, Tamilnadu, India.

Email: r.vijay08@gmail.com

Abstract- This paper discusses a bulk arrival retrial queue with Starting Failures and exponentially distributed multiple working vacation. The retrial time and service time are assumed to follow an arbitrary distribution. The customers in the orbit access the server under FCFS discipline. After completion of the service there is no customer in the orbit the server takes vacation. The vacation time follows an exponential distribution. During the vacation period, customers can be served at a lower rate. Whenever the starting failure occurs the server may breakdown and sent for repair immediately, the repair time is arbitrary. Using supplementary variable method, we obtain the probability generating function for the number of customers in the orbit. Some particular cases are discussed.

Keywords- Bulk arrival retrial queues, Linear retrial policy, Starting Failures, Working vacation and Supplementary variable method.

MSC: 60K25, 60K30

1. INTRODUCTION

Retrial queueing models are characterized by the feature that arriving calls which find the server busy, do not line up or leave the system immediately forever, but go to some virtual place called as orbit and try their luck again after some random time. For references, see the book by Falin and Templeton[7], the survey papers of Yang and Templeton [22] and Artalejo[2]. The characteristic of a working vacation is that the server serves customers at a lower service rate during the vacation period. In the literature of queueing systems with working vacations has been discussed through a considerable amount of work in the recent past. Servi and Finn [19] studied an M/M/1 queue with multiple working vacation and obtained the probability generating function for the number of customers in the system and the waiting time distribution. Some other notable works were done by Wu and Takagi [20], Aftab Begum [1], Pazhani Bala Murugan and Santhi[16] and Pazhani Bala Murugan and Vijaykrishnaraj[18].

In practical situations we often meet the case where service stations may fail or slow down, during the time, at which the repairing works are carried out. Kulkarni and Choi [12] have analysed the M/G/1 retrial queue with server subjected to repairs and breakdowns. Yang and Li [21] have studied the M/G/1 retrial queue with server subject to starting failures. Krishna Kumar et al. have studied M/G/1 retrial queue with feedback and starting failures. Vacation queueing models subject to breakdowns have been studied by Choudhury and Tadj [5], Pazhani Bala Murugan and Santhi [17] studied Working vacation queueing models subject to server breakdowns.

In this paper we study an $M^X/G/1$ retrial queue with Starting Failures and exponentially distributed multiple working vacation. The organization of the paper is as follows. In section 2, we describe the model. In section 3, we obtain the steady state probability generating function. Particular cases are discussed in section 4.

2. MODEL DESCRIPTION

We consider an $M^X/G/1$ queueing system where the primary customers arrive according to a compound poisson process with arrival rate $\lambda(\geq 0)$. The batch size X is a random variable $Pr(X = n) = g_n, n = 1, 2, 3, \dots$ with probability generating function $X(z) = \sum_{k=1}^{\infty} g_k z^k$ and the first and second factorial moments of X are defined by $X^{(1)}(1) = E(X)$ and $X^{(2)}(1) = E(X(X-1))$. We assume that there is no waiting space and therefore if an arriving customer (external or repeated) finds the server occupied, he leaves the service area and joins a pool of blocked customers called orbit.

The retrial time follows a general distribution, with distribution functions $B(x)$. Let $b(x)$ and $B^*(\theta)$ denote the probability density function and Laplace Stieltjes Transform of $B(x)$ respectively for regular service period and let $a(x), A^*(\theta)$ denote the probability density function and Laplace Stieltjes Transform of $A(x)$ respectively for working

vacation period. If the server is idle, an arriving customer must start the server, which takes negligible time. If the server is started successfully the customer gets service immediately. Otherwise, the repair for the server commences immediately and the customer must leave for the orbit and make a retrial at a later time. We assume that the probability of successful commencement of service is δ for a new customer who finds the server idle and sees no other customer in the orbit and is α for all other new and returning customers.

The service time is assumed to follow a general distribution, with distribution function $S_b(x)$ and density function $s_b(x)$. Let $S_b^*(\theta)$ be the Laplace Stieltjes Transform (LST) of the service time S_b .

Whenever the orbit becomes empty at a service completion instant the server starts a working vacation and the duration of the vacation time follows an exponential distribution with rate η . At a vacation completion instant if there are customers in the orbit the server will start a new busy period. Otherwise he takes another working vacation. This type of vacation policy is called multiple working vacation.

During the working vacation period, the server provides service with service time S_v which follows a general distribution with distribution function $S_v(x)$. Let $s_v(x)$ be the probability density function and $S_v^*(\theta)$ be the Laplace Stieltjes Transform of $S_v(x)$. Further, it is noted that the service interrupted at the end of a vacation is lost and it is restarted with different distribution at the beginning of the following service period.

We assume that inter-arrival times, retrial times, service times, working vacation times and breakdown times are mutually independent.

Let us define the following random variables.

$N(t)$ -the orbit size at time t .

$A^0(t)$ -the remaining retrial time in working vacation period.

$B^0(t)$ -the remaining retrial time in regular service period.

$S_v^0(t)$ -the remaining service time in working vacation period.

$S_b^0(t)$ -the remaining service time in regular service period.

$S_{r_1}^0(t)$ -the remaining repair time in working vacation period.

$S_{r_2}^0(t)$ -the remaining repair time in regular service period.

$Y(t) = 0$ if the server is on working vacation period at time t but not occupied, 1 if the server is in regular service period at time t but not occupied, 2 if the server is busy on working vacation period at time t , 3 if the server is busy in regular service period at time t , 4 if the server is under repair on working vacation period, 5 if the server under repair on regular service period.

so that the supplementary variables $A^0(t), B^0(t), S_v^0(t), S_b^0(t), S_{r_1}^0(t)$ and $S_{r_2}^0(t)$ are introduced in order to obtain the bivariate Markov Process $\{N(t), \partial(t); t \geq 0\}$,

Where,

$$\partial(t) = A^0(t) \text{ if } Y(t) = 0, B^0(t) \text{ if } Y(t) = 1, S_v^0(t) \text{ if } Y(t) = 2, S_b^0(t) \text{ if } Y(t) = 3, S_{r_1}^0(t) \text{ if } Y(t) = 4, S_{r_2}^0(t) \text{ if } Y(t) = 5$$

We define the following limiting probabilities:

$$Q_{0,0} = \lim_{t \rightarrow \infty} Pr\{N(t) = 0, Y(t) = 0\}$$

$$Q_{0,n}(x) = \lim_{t \rightarrow \infty} Pr\{N(t) = n, Y(t) = 0, x < A^0(t) \leq x + dx; n \geq 1\}$$

$$P_{0,n}(x) = \lim_{t \rightarrow \infty} Pr\{N(t) = n, Y(t) = 1, x < B^0(t) \leq x + dx; n \geq 1\}$$

$$Q_{1,n}(x) = \lim_{t \rightarrow \infty} Pr\{N(t) = n, Y(t) = 2, x < S_v^0(t) \leq x + dx; n \geq 0\}$$

$$P_{1,n}(x) = \lim_{t \rightarrow \infty} Pr\{N(t) = n, Y(t) = 3, x < S_b^0(t) \leq x + dx; n \geq 0\}$$

$$R_{1,n}(x) = \lim_{t \rightarrow \infty} Pr\{N(t) = n, Y(t) = 4, x < S_{r_1}^0(t) \leq x + dx; n \geq 1\}$$

$$R_{2,n}(x) = \lim_{t \rightarrow \infty} Pr\{N(t) = n, Y(t) = 5, x < S_{r_2}^0(t) \leq x + dx; n \geq 1\}$$

We define the Laplace Stieltjes Transform and the probability generating functions as follows, $S_b^*(\theta) =$

$$\int_0^\infty e^{-\theta x} s_b(x) dx; \quad S_v^*(\theta) = \int_0^\infty e^{-\theta x} s_v(x) dx; \quad A^*(\theta) = \int_0^\infty e^{-\theta x} a(x) dx;$$

$$B^*(\theta) = \int_0^\infty e^{-\theta x} b(x) dx; \quad S_{r_1}^*(\theta) = \int_0^\infty e^{-\theta x} S_{r_1}(x) dx; \quad S_{r_2}^*(\theta) = \int_0^\infty e^{-\theta x} S_{r_2}(x) dx;$$

$$Q_{0,n}^*(\theta) = \int_0^\infty e^{-\theta x} Q_{0,n}(x) dx; \quad Q_{0,n}^*(0) = \int_0^\infty Q_{0,n}(x) dx; \quad Q_{1,n}^*(\theta) = \int_0^\infty e^{-\theta x} Q_{1,n}(x) dx;$$

$$Q_{1,n}^*(0) = \int_0^\infty Q_{1,n}(x) dx; \quad P_{0,n}^*(\theta) = \int_0^\infty e^{-\theta x} P_{0,n}(x) dx; \quad P_{0,n}^*(0) = \int_0^\infty P_{0,n}(x) dx$$

$$\begin{aligned}
 R_{1,n}^*(\theta) &= \int_0^\infty e^{-\theta x} R_{1,n}(x) dx; & R_{1,n}^*(0) &= \int_0^\infty R_{1,n}(x) dx; & R_{2,n}^*(\theta) &= \int_0^\infty e^{-\theta x} R_{2,n}(x) dx \\
 R_{2,n}^*(0) &= \int_0^\infty R_{2,n}(x) dx; & Q_0^*(z, \theta) &= \sum_{n=1}^\infty Q_{0,n}^*(\theta) z^n; & Q_0^*(z, 0) &= \sum_{n=1}^\infty Q_{0,n}^*(0) z^n \\
 Q_0(z, 0) &= \sum_{n=1}^\infty Q_{0,n}(0) z^n; & Q_1^*(z, \theta) &= \sum_{n=0}^\infty Q_{1,n}^*(\theta) z^n; & Q_1^*(z, 0) &= \sum_{n=0}^\infty Q_{1,n}^*(0) z^n; \\
 Q_1(z, 0) &= \sum_{n=0}^\infty Q_{1,n}(0) z^n; & P_0^*(z, \theta) &= \sum_{n=1}^\infty P_{0,n}^*(\theta) z^n; & P_0^*(z, 0) &= \sum_{n=1}^\infty P_{0,n}^*(0) z^n; \\
 P_0(z, 0) &= \sum_{n=1}^\infty P_{0,n}(0) z^n; & P_1^*(z, \theta) &= \sum_{n=0}^\infty P_{1,n}^*(\theta) z^n; & P_1^*(z, 0) &= \sum_{n=0}^\infty P_{1,n}^*(0) z^n; \\
 P_1(z, 0) &= \sum_{n=0}^\infty P_{1,n}(0) z^n; & R_1^*(z, \theta) &= \sum_{n=0}^\infty R_{1,n}^*(\theta) z^n; & R_1^*(z, 0) &= \sum_{n=0}^\infty R_{1,n}^*(0) z^n; \\
 R_1(z, 0) &= \sum_{n=0}^\infty R_{1,n}(0) z^n; & R_2^*(z, \theta) &= \sum_{n=0}^\infty R_{2,n}^*(\theta) z^n; & R_2^*(z, 0) &= \sum_{n=0}^\infty R_{2,n}^*(0) z^n; \\
 R_2(z, 0) &= \sum_{n=0}^\infty R_{2,n}(0) z^n;
 \end{aligned}$$

3. THE ORBIT SIZE DISTRIBUTION

By assuming that the system is in steady state condition, the differential difference equations governing the system are as follows:

$$\lambda Q_{0,0} = P_{1,0}(0) + Q_{1,0}(0) \tag{1}$$

$$-\frac{d}{dx} Q_{0,n}(x) = -(\lambda + \eta) Q_{0,n}(x) + Q_{1,n}(0) a(x) + R_{1,n}(0) a(x); n \geq 1 \tag{2}$$

$$-\frac{d}{dx} Q_{1,0}(x) = -(\lambda + \eta) Q_{1,0}(x) + \alpha Q_{0,1}(0) s_v(x) + \lambda g_1 \delta Q_{0,0} s_v(x) \tag{3}$$

$$\begin{aligned}
 -\frac{d}{dx} Q_{1,n}(x) &= -(\lambda + \eta) Q_{1,n}(x) + \alpha Q_{0,n+1}(0) s_v(x) + \lambda g_{n+1} \delta Q_{0,0} s_v(x) \\
 &\quad + \sum_{k=1}^n \lambda g_k Q_{1,n-k}(x) + \sum_{k=1}^n \int_0^\infty \lambda g_k \alpha Q_{0,n-k+1}(x) dx. s_v(x); n \geq 1
 \end{aligned} \tag{4}$$

$$-\frac{d}{dx} P_{0,n}(x) = -\lambda P_{0,n}(x) + P_{1,n}(0) b(x) + \eta b(x) \int_0^\infty Q_{0,n}(x) dx + R_{2,n}(0) b(x) \tag{5}$$

$$-\frac{d}{dx} P_{1,0}(x) = -\lambda P_{1,0}(x) + \alpha P_{0,1}(0) s_b(x) + \eta s_b(x) \int_0^\infty Q_{1,0}(x) dx \tag{6}$$

$$\begin{aligned}
 -\frac{d}{dx} P_{1,n}(x) &= -\lambda P_{1,n}(x) + \alpha P_{0,n+1}(0) s_b(x) + \sum_{k=1}^n \lambda g_k P_{1,n-k}(x) \\
 &\quad + \eta s_b(x) \int_0^\infty Q_{1,n}(x) dx + \sum_{k=1}^n \int_0^\infty \lambda g_k \alpha P_{0,n-k+1}(x) dx. s_b(x); n \geq 1
 \end{aligned} \tag{7}$$

$$-\frac{d}{dx} R_{1,1}(x) = -(\lambda + \eta) R_{1,1}(x) + \lambda g_1 \bar{\delta} Q_{0,0} s_{r_1}(x) + \bar{\alpha} Q_{0,1}(0) s_{r_1}(x) \tag{8}$$

$$\begin{aligned}
 -\frac{d}{dx} R_{1,n}(x) &= -(\lambda + \eta) R_{1,n}(x) + \lambda g_n \bar{\delta} Q_{0,0} s_{r_1}(x) + \bar{\alpha} Q_{0,n}(0) s_{r_1}(x) + \sum_{k=1}^{n-1} \lambda g_k R_{1,n-k}(x) \\
 &\quad + \sum_{k=1}^{n-1} \int_0^\infty \lambda g_k \bar{\alpha} Q_{0,n-k}(x) dx. s_{r_1}(x); n \geq 2
 \end{aligned} \tag{9}$$

$$-\frac{d}{dx} R_{2,1}(x) = -\lambda R_{2,1}(x) + \bar{\alpha} P_{0,1}(0) s_{r_2}(x) + \eta s_{r_2}(x) \int_0^\infty R_{1,1}(x) dx \tag{10}$$

$$\begin{aligned}
 -\frac{d}{dx} R_{2,n}(x) &= -\lambda R_{2,n}(x) + \bar{\alpha} P_{0,n}(0) s_{r_2}(x) + \sum_{k=1}^{n-1} \lambda g_k R_{2,n-k}(x) + \eta s_{r_2}(x) \int_0^\infty R_{1,n}(x) dx \\
 &\quad + \sum_{k=1}^{n-1} \int_0^\infty \lambda g_k \bar{\alpha} P_{0,n-k}(x) dx. s_{r_2}(x); n \geq 2
 \end{aligned} \tag{11}$$

Taking LST on both sides of the equation from (2) to (7) we get,

$$\theta Q_{0,n}^*(\theta) - Q_{0,n}(0) = (\lambda + \eta) Q_{0,n}^*(\theta) - Q_{1,n}(0) A^*(\theta) - R_{1,n}(0) A^*(\theta); n \geq 1 \tag{12}$$

$$\theta Q_{1,0}^*(\theta) - Q_{1,0}(0) = (\lambda + \eta) Q_{1,0}^*(\theta) - \alpha Q_{0,1}(0) S_v^*(\theta) - \lambda g_1 \delta Q_{0,0} S_v^*(\theta) \tag{13}$$

$$\theta Q_{1,n}^*(\theta) - Q_{1,n}(0) = (\lambda + \eta)Q_{1,n}^*(\theta) - \alpha Q_{0,n+1}(0)S_v^*(\theta) - \lambda g_{n+1} \delta Q_{0,0} S_v^*(\theta) - \sum_{k=1}^n \lambda g_k Q_{1,n-k}^*(\theta) - \sum_{k=1}^n Q_{0,n+1-k}(0) \lambda g_k \alpha S_v^*(\theta); n \geq 1 \tag{14}$$

$$\theta P_{0,n}^*(\theta) - P_{0,n}(0) = \lambda P_{0,n}^*(\theta) - P_{1,n}(0)B^*(\theta) - \eta B^*(\theta)Q_{0,n}^*(\theta) - R_{2,n}(0)B^*(\theta); n \geq 1 \tag{15}$$

$$\theta P_{1,0}^*(\theta) - P_{1,0}(0) = \lambda P_{1,0}^*(\theta) - \lambda P_{0,1}(0)S_b^*(\theta) - \eta S_b^*(\theta)Q_{1,0}^*(\theta) \tag{16}$$

$$\theta P_{1,n}^*(\theta) - P_{1,n}(0) = \lambda P_{1,n}^*(\theta) - \lambda P_{0,n+1}(0)S_b^*(\theta) - \sum_{k=1}^n \lambda g_k P_{1,n-k}^*(\theta) - \eta S_b^*(\theta)Q_{1,n}^*(\theta) - \sum_{k=1}^n \lambda g_k \alpha P_{0,n-k+1}^*(\theta)S_b^*(\theta); n \geq 1 \tag{17}$$

$$\theta R_{1,1}^*(\theta) - R_{1,1}(0) = (\lambda + \eta)R_{1,1}^*(\theta) - \lambda g_1 \bar{\delta} Q_{0,0} s_{r_1}^*(\theta) - \bar{\alpha} Q_{0,1}(0) s_{r_1}^*(\theta) \tag{18}$$

$$\theta R_{1,n}^*(\theta) - R_{1,n}(0) = (\lambda + \eta)R_{1,n}^*(\theta) - \lambda g_n \bar{\delta} Q_{0,0} s_{r_1}^*(\theta) - \bar{\alpha} Q_{0,n}(0) s_{r_1}^*(\theta) - \sum_{k=1}^{n-1} \lambda g_k R_{1,n-k}^*(\theta) - \sum_{k=1}^{n-1} \lambda g_k \bar{\alpha} Q_{1,n-k}^*(\theta) s_{r_1}^*(\theta); n \geq 2 \tag{19}$$

$$\theta R_{2,1}^*(\theta) - R_{2,1}(0) = \lambda R_{2,1}^*(\theta) - \bar{\alpha} P_{0,1}(0) s_{r_2}^*(\theta) - \eta R_{1,1}^*(\theta) s_{r_2}^*(\theta) \tag{20}$$

$$\theta R_{2,n}^*(\theta) - R_{2,n}(0) = \lambda R_{2,n}^*(\theta) - \bar{\alpha} P_{0,n}(0) s_{r_2}^*(\theta) - \sum_{k=1}^{n-1} \lambda g_k R_{2,n-k}^*(\theta) - \eta s_{r_1}^*(\theta) R_{1,n}^*(\theta) - \sum_{k=1}^{n-1} \lambda g_k \bar{\alpha} P_{0,n-k}^*(\theta) s_{r_2}^*(\theta); n \geq 2 \tag{21}$$

Multiplying (12) with z^n and summed over n from 1 to ∞ , we get

$$[\theta - (\lambda + \eta)]Q_0^*(z, \theta) = Q_0(z, 0) - A^*(\theta)Q_1(z, 0) - A^*(\theta)R_1(z, 0) + A^*(\theta)Q_{1,0}(0) \tag{22}$$

z^n times (14) summed over n from 1 to ∞ and added up with (22) gives

$$[\theta - (\lambda - \lambda X(z) + \eta)]Q_1^*(z, \theta) = Q_1(z, 0) - \frac{S_v^*(\theta)}{z} [\alpha Q_0(z, 0) + \lambda \delta X(z) Q_{0,0} + \lambda \alpha X(z) Q_0^*(z, 0)] \tag{23}$$

Multiplying (15) with z^n and summed over n from 1 to ∞ , we get

$$[\theta - \lambda]P_0^*(z, \theta) = P_0(z, 0) - B^*(\theta)P_1(z, 0) - \eta B^*(\theta)Q_0^*(z, 0) - B^*(\theta)R_2(z, 0) + B^*(\theta)P_{1,0}(0) \tag{24}$$

z^n times (17) summed over n from 1 to ∞ and added up with (24) gives

$$[\theta - (\lambda - \lambda X(z))]P_1^*(z, \theta) = P_1(z, 0) - \frac{S_b^*(\theta)}{z} [\alpha P_0(z, 0) + \eta z Q_1^*(z, 0) + \lambda \alpha X(z) P_0^*(z, 0)] \tag{25}$$

z^n times (19) summed over n from 2 to ∞ and added up with (25) gives

$$[\theta - (\lambda - \lambda X(z) + \eta)]R_1^*(z, \theta) = R_1(z, 0) - \lambda \bar{\delta} X(z) S_{r_1}^*(\theta) Q_{0,0} - \bar{\alpha} S_{r_1}^*(\theta) Q_0(z, 0) - \lambda \bar{\alpha} X(z) S_{r_1}^*(\theta) Q_0^*(z, 0) \tag{26}$$

z^n times (21) summed over n from 2 to ∞ and added up with (26) gives

$$[\theta - (\lambda - \lambda X(z))]R_2^*(z, \theta) = R_2(z, 0) - \bar{\alpha} S_{r_2}^*(\theta) P_0(z, 0) - \eta S_{r_2}^*(\theta) R_1^*(z, 0) - \lambda \bar{\alpha} X(z) S_{r_2}^*(\theta) P_0^*(z, 0) \tag{27}$$

Inserting $\theta = \lambda + \eta$ in (22), we get

$$Q_0(z, 0) = A^*(\lambda + \eta)[Q_1(z, 0) + R_1(z, 0) - Q_{1,0}(0)] \tag{28}$$

Substituting $\theta = 0$ in (22) and using (28), we get

$$Q_0^*(z, 0) = \frac{[1 - A^*(\lambda + \eta)]}{\lambda + \eta} [Q_1(z, 0) + R_1(z, 0) - Q_{1,0}(0)] \tag{29}$$

Substituting $\theta = \lambda - \lambda X(z) + \eta$ in (23), we get

$$Q_1(z, 0) = \frac{S_v^*(\lambda - \lambda X(z) + \eta)}{z} [\alpha Q_0(z, 0) + \lambda \delta X(z) Q_{0,0} + \lambda \alpha X(z) Q_0^*(z, 0)] \tag{30}$$

Substituting $\theta = \lambda - \lambda X(z) + \eta$ in (26), we get

$$R_1(z, 0) = [\lambda \bar{\delta} X(z) Q_{0,0} + \bar{\alpha} Q_0(z, 0) + \lambda \bar{\alpha} X(z) Q_0^*(z, 0)] S_{r_1}^*(\lambda - \lambda X(z) + \eta) \tag{31}$$

Inserting $\theta = 0$ in (23) and using (30), we get

$$Q_1^*(z, 0) = \frac{[1 - S_v^*(\lambda - \lambda X(z) + \eta)] [\alpha Q_0(z, 0) + \lambda \alpha X(z) Q_0^*(z, 0) + \lambda \delta X(z) Q_{0,0}]}{z[(\lambda - \lambda X(z) + \eta)]} \tag{32}$$

Inserting $\theta = 0$ in (26) and using (31), we get

$$R_1^*(z, 0) = \frac{[1 - S_{r_1}^*(\lambda - \lambda X(z) + \eta)]}{[\lambda - \lambda X(z) + \eta]} [\lambda \bar{\delta} X(z) Q_{0,0} + \bar{\alpha} Q_0(z, 0) + \lambda \bar{\alpha} X(z) Q_0^*(z, 0)] \tag{33}$$

Solving the equation (28), (29), (30) and (31), we get

$$Q_0(z, 0) = \frac{(\lambda + \eta) A^*(\lambda + \eta) [\lambda X(z)] [\delta S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\delta} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)] Q_{0,0} - z Q_{1,0}(0)}{(\lambda + \eta) z - [\alpha S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\alpha} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)] [\lambda X(z) + (\lambda - \lambda X(z) + \eta) A^*(\lambda + \eta)]} \tag{34}$$

Let as consider,

$$f(z) = (\lambda + \eta)z - [\alpha S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\alpha} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)][\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)],$$

at $z = 0, f(0) = \alpha S_v^*(\lambda + \eta)(\lambda + \eta)A^*(\lambda + \eta) < 0$
 at $z = 1, f(1) = (\lambda + \eta) - [\alpha S_v^*(\eta) + \bar{\alpha} S_{r_1}^*(\eta)][\lambda + \eta A^*(\lambda + \eta)] > 0$

Therefore their exist a real root z_1 in $(0,1)$ satisfying the equation $f(z) = 0$

Hence at $z = z_1$, the equation (34) becomes,

$$\lambda X(z_1)[\delta S_v^*(\lambda - \lambda X(z_1) + \eta) + \bar{\delta} z_1 S_{r_1}^*(\lambda - \lambda X(z_1) + \eta)]Q_{0,0} - z_1 Q_{1,0}(0) = 0$$

$$Q_{1,0}(0) = \frac{\lambda X(z_1)}{z_1} [\delta S_v^*(\lambda - \lambda X(z_1) + \eta) + \bar{\delta} z_1 S_{r_1}^*(\lambda - \lambda X(z_1) + \eta)]Q_{0,0}$$

$$Q_{1,0}(0) = \lambda U(z_1)Q_{0,0} \tag{35}$$

Where,

$$U(z_1) = \frac{X(z_1)}{z_1} [\delta S_v^*(\lambda - \lambda X(z_1) + \eta) + \bar{\delta} z S_{r_1}^*(\lambda - \lambda X(z_1) + \eta)] \tag{36}$$

Therefore,

$$Q_0(z, 0) = \frac{(\lambda + \eta)A^*(\lambda + \eta)}{D_2(z)} [\lambda X(z)[\delta S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\delta} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)] - \lambda U(z_1)z]Q_{0,0} \tag{37}$$

$$Q_1(z, 0) = \frac{S_v^*(\lambda - \lambda X(z) + \eta)}{D_2(z)} [\lambda(\lambda + \eta)\delta \lambda X(z) + [(\alpha \bar{\delta} - \bar{\alpha} \delta)\lambda X(z)S_{r_1}^*(\lambda - \lambda X(z) + \eta) - \alpha \lambda U(z_1)]$$

$$[\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)]]Q_{0,0} \tag{38}$$

$$R_1(z, 0) = \frac{S_{r_1}^*(\lambda - \lambda X(z) + \eta)}{D_2(z)} [\lambda(\lambda + \eta)\bar{\delta} z X(z) - [(\alpha \bar{\delta} - \bar{\alpha} \delta)\lambda X(z)S_v^*(\lambda - \lambda X(z) + \eta) - \bar{\alpha} z \lambda U(z_1)]$$

$$[\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)]] \tag{39}$$

Substituting (35), (36), (37),(38) and (39) in (29),(32) and (33), we get

$$Q_0^*(z, 0) = \frac{[1 - A^*(\lambda + \eta)][\lambda X(z)[\delta S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\delta} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)] - \lambda U(z_1)z]Q_{0,0}}{D_2(z)} \tag{40}$$

$$Q_1^*(z, 0) = \frac{[1 - S_v^*(\lambda - \lambda X(z) + \eta)]\lambda(\lambda + \eta)\delta X(z)Q_{0,0}}{D_1(z)D_2(z)}$$

$$+ \frac{[\lambda X(z)(\alpha \bar{\delta} - \bar{\alpha} \delta)S_{r_1}^*(\lambda - \lambda X(z) + \eta) - \alpha \lambda U(z_1)][\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)]Q_{0,0}}{D_1(z)D_2(z)} \tag{41}$$

$$R_1^*(z, 0) = \frac{[1 - S_{r_1}^*(\lambda - \lambda X(z) + \eta)]\lambda(\lambda + \eta)\bar{\delta} z X(z)}{D_1(z)D_2(z)}$$

$$- \frac{[\lambda X(z)(\alpha \bar{\delta} - \bar{\alpha} \delta)S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\alpha} \lambda U(z_1)z][\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)]Q_{0,0}}{D_1(z)D_2(z)} \tag{42}$$

Where,

$$D_1(z) = [\lambda - \lambda X(z) + \eta]$$

$$D_2(z) = [(\lambda + \eta)z - [\alpha S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\alpha} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)]$$

$$[\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)]]$$

Inserting $\theta = \lambda$ in (24), we get

$$P_0(z, 0) = B^*(\lambda)[P_1(z, 0) + \eta Q_0^*(z, 0) + R_2(z, 0) - P_{1,0}(0)] \tag{43}$$

Inserting $\theta = 0$ in (24), we get

$$P_0^*(z, 0) = \left[\frac{1 - B^*(\lambda)}{\lambda}\right][P_1(z, 0) + \eta Q_0^*(z, 0) + R_2(z, 0) - P_{1,0}(0)] \tag{44}$$

Put $\theta = \lambda - \lambda X(z)$ in (25), we get

$$P_1(z, 0) = \frac{S_b^*(\lambda - \lambda X(z))}{z} [\alpha P_0(z, 0) + \eta z Q_1^*(z, 0) + \lambda \alpha X(z)P_0^*(z, 0)] \tag{45}$$

Put $\theta = 0$ in (25), we get

$$P_1^*(z, 0) = \frac{[1 - S_b^*(\lambda - \lambda X(z))]}{z[\lambda - \lambda X(z)]} [\alpha P_0(z, 0) + \eta z Q_1^*(z, 0) + \lambda \alpha X(z)P_0^*(z, 0)] \tag{46}$$

Put $\theta = (\lambda - \lambda X(z))$ in (27), we get

$$R_2(z, 0) = S_{r_2}^*(\lambda - \lambda X(z))[\bar{\alpha} P_0(z, 0) + \eta R_1^*(z, 0) + \bar{\alpha} \lambda X(z)P_0^*(z, 0)] \tag{47}$$

Put $\theta = 0$ in (25), we get

$$R_2^*(z, 0) = \frac{[1 - S_{r_2}^*(\lambda - \lambda X(z))]}{[\lambda - \lambda X(z)]} [\bar{\alpha} P_0(z, 0) + \eta R_1^*(z, 0) + \bar{\alpha} \lambda X(z)P_0^*(z, 0)] \tag{48}$$

Using (35) in (1), we get

$$P_{1,0}(0) = [1 - U(z_1)]\lambda Q_{0,0} \tag{49}$$

Solving equation (43) to (48) and using (49), we get

$$P_0(z, 0) = \frac{B^*(\lambda)[\eta z Q_0^*(z, 0) + \eta z S_b^*(\lambda - \lambda X(z))Q_1^*(z, 0) + \eta z S_{r_2}(\lambda - \lambda X(z))R_1(z, 0) - zP_{1,0}(0)]}{z - [\alpha S_b^*(\lambda - \lambda X(z)) + \bar{\alpha} z S_{r_2}^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)]} \tag{50}$$

$$P_1(z, 0) = \frac{\alpha S_b^*(\lambda - \lambda X(z))[B^*(\lambda) + (1 - B^*(\lambda))X(z)][\eta Q_0^*(z, 0) + \eta S_{r_2}^*(\lambda - \lambda X(z))R_1^*(z, 0) - (1 - U(z_1))\lambda Q_{0,0}]}{z - [\alpha S_b^*(\lambda - \lambda X(z)) + \bar{\alpha} z S_{r_2}^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)]} + \frac{\eta z S_b^*(\lambda - \lambda X(z))[1 - \bar{\alpha} S_{r_2}^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)]Q_1^*(z, 0)}{z - [\alpha S_b^*(\lambda - \lambda X(z)) + \bar{\alpha} z S_{r_2}^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)]} \tag{51}$$

and

$$R_2(z, 0) = \frac{\bar{\alpha} z S_{r_2}^*(\lambda - \lambda X(z))[B^*(\lambda) + (1 - B^*(\lambda))X(z)][\eta Q_0^*(z, 0) - (1 - U(z_1))\lambda Q_{0,0} + \eta S_b^*(\lambda - \lambda X(z))Q_1^*(z, 0)]}{z - [\alpha S_b^*(\lambda - \lambda X(z)) + \bar{\alpha} z S_{r_2}^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)]} + \frac{\eta S_{r_2}^*(\lambda - \lambda X(z))[z - \alpha S_b^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)]R_1^*(z, 0)}{z - [\alpha S_b^*(\lambda - \lambda X(z)) + \bar{\alpha} z S_{r_2}^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)]} \tag{52}$$

Substituting (50), (51), (52) in (44), (46) and (48), we get

$$P_0^*(z, 0) = \frac{[1 - B^*(\lambda)][\eta z Q_0^*(z, 0) + \eta z S_b^*(\lambda - \lambda X(z))Q_1^*(z, 0) + \eta z S_{r_2}(\lambda - \lambda X(z))R_1^*(z, 0) - zP_{1,0}(0)]}{\lambda D_4(z)} \tag{53}$$

$$P_1^*(z, 0) = \left[\frac{1 - S_b^*(\lambda - \lambda X(z))}{D_3(z)D_4(z)} \right] [B^*(\lambda) + (1 - B^*(\lambda))X(z)] \alpha \eta Q_0^*(z, 0) + [1 - \bar{\alpha} S_{r_2}^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)] \eta z Q_1^*(z, 0) + [B^*(\lambda) + (-B^*(\lambda))X(z)] \alpha \eta S_{r_2}^*(\lambda - \lambda X(z)) R_1^*(z, 0) - [B^*(\lambda) + (1 - B^*(\lambda))X(z)] \alpha P_{1,0}(0) \tag{54}$$

$$R_2^*(z, 0) = \left[\frac{1 - S_{r_2}^*(\lambda - \lambda X(z))}{D_3(z)D_4(z)} \right] [\bar{\alpha} [B^*(\lambda) + (1 - B^*(\lambda))X(z)] \eta z Q_0^*(z, 0) + \bar{\alpha} [B^*(\lambda) + (1 - B^*(\lambda))X(z)] \eta z S_b^*(\lambda - \lambda X(z)) Q_1^*(z, 0) + [z - \alpha S_b(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)] \eta R_1^*(z, 0) - \bar{\alpha} [B^*(\lambda) + (1 - B^*(\lambda))X(z)] z P_{1,0}(0)] \tag{55}$$

Where,

$$D_3(z) = \lambda - \lambda X(z)$$

$$D_4(z) = z - [\alpha S_b^*(\lambda - \lambda X(z)) + \bar{\alpha} z S_{r_2}^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)]$$

Substituting (40), (41) and (42) in (53), (54) and (55), we get

$$P_0^*(z, 0) = [1 - B^*(\lambda)] \frac{N_1(z)}{D_1(z)D_2(z)D_4(z)} Q_{0,0} \tag{56}$$

$$P_1^*(z, 0) = \frac{[1 - S_b^*(\lambda - \lambda X(z))]N_2(z)}{D_1(z)D_2(z)D_3(z)D_4(z)} \lambda Q_{0,0} \tag{57}$$

$$R_2^*(z, 0) = \frac{[1 - S_{r_2}^*(\lambda - \lambda X(z))]N_3(z)}{D_1(z)D_2(z)D_3(z)D_4(z)} \lambda Q_{0,0} \tag{58}$$

Where,

$$D_1(z) = [\lambda - \lambda X(z) + \eta]$$

$$D_2(z) = [(\lambda + \eta)z - [\alpha S_v^*(\lambda - \lambda X(z)) + \bar{\alpha} z S_{r_1}^*(\lambda - \lambda X(z))][\lambda x(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)]]$$

$$D_3(z) = [\lambda - \lambda X(z)]$$

$$D_4(z) = z - [\alpha S_b^*(\lambda - \lambda X(z)) + \bar{\alpha} z S_{r_2}^*(\lambda - \lambda X(z))][B^*(\lambda) + (1 - B^*(\lambda))X(z)]$$

$$N_1(z) = \eta z [1 - A^*(\lambda + \eta)][\lambda - \lambda X(z) + \eta][X(z)[\delta S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\square} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)] - U(z_1)z] + \eta z S_b^*(\lambda - \lambda X(z))[1 - S_v^*(\lambda - \lambda X(z) + \eta)][(\lambda + \eta)\delta X(z) + [X(z)(\alpha \bar{\delta} - \bar{\alpha} \delta)S_{r_1}^*(\lambda - \lambda X(z) + \eta) - \alpha U(z_1)]] [\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)] + \eta z S_{r_2}^*(\lambda - \lambda X(z) + \eta)[1 - S_{r_1}^*(\lambda - \lambda X(z) + \eta)]$$

$$N_2(z) = \alpha \eta [B^*(\lambda) + (1 - B^*(\lambda))X(z)][1 - A^*(\lambda + \eta)][\lambda - \lambda X(z) + \eta]$$

$$N_3(z) = [X(z)[\delta S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\delta} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)] - U(z_1)z]$$

$$+ \eta z [1 - \bar{\alpha} S_{r_2}^*(\lambda - \lambda X(z) + \eta)][B^*(\lambda) + (1 - B^*(\lambda))X(z)]$$

$$+ \eta z [1 - S_v^*(\lambda - \lambda X(z) + \eta)][(\lambda + \eta)\delta X(z) + [X(z)(\alpha \bar{\delta} - \bar{\alpha} \delta)S_{r_1}^*(\lambda - \lambda X(z) + \eta) - \alpha U(z_1)]]$$

$$[\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)] + \alpha \eta S_{r_2}^*(\lambda - \lambda X(z) + \eta)[B^*(\lambda) + (1 - B^*(\lambda))X(z)]$$

$$\begin{aligned}
 N_3(z) = & \eta z \bar{\alpha} [B^*(\lambda) + (1 - B^*(\lambda)X(z))] [1 - A^*(\lambda + \eta)] [\lambda - \lambda X(z) + \eta] \\
 & [X(z) [\delta S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\delta} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)] - U(z_1)z] \\
 & + \eta z \bar{\alpha} S_b^*(\lambda - \lambda X(z) [B^*(\lambda) + (1 - B^*(\lambda)X(z))] [1 - S_v^*(\lambda - \lambda X(z) + \eta)] \\
 & [(\lambda + \eta)\delta X(z) + [X(z)(\alpha\bar{\delta} - \bar{\alpha}\delta)S_{r_1}^*(\lambda - \lambda X(z) + \eta) - \alpha U(z_1)] [\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)]] \\
 & + \eta [z - \alpha S_b^*(\lambda - \lambda X(z))] [B^*(\lambda) + (1 - B^*(\lambda)X(z))] [1 - S_{r_1}^*(\lambda - \lambda X(z) + \eta)] \\
 & [(\lambda + \eta)\bar{\delta} X(z)z - [X(z)(\alpha\bar{\delta} - \bar{\alpha}\delta)S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\alpha} U(z_1)z] [\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)]] \\
 & - \bar{\alpha} z [1 - U(z_1)] [B^*(\lambda) + (1 - B^*(\lambda)X(z))] [\lambda - \lambda X(z) + \eta] \\
 & [(\lambda + \eta)z - [\alpha S_v^*(\lambda - \lambda X(z) + \eta) + \bar{\alpha} z S_{r_1}^*(\lambda - \lambda X(z) + \eta)] [\lambda X(z) + (\lambda - \lambda X(z) + \eta)A^*(\lambda + \eta)]]
 \end{aligned}$$

We define,

$$P_V(z) = Q_0^*(z, 0) + Q_1^*(z, 0) + R_1^*(z, 0) + Q_{0,0} \tag{59}$$

as the probability generating function for the number of customers in the orbit when the server is on working vacation Period. Where $Q_0^*(z, 0)$, $Q_1^*(z, 0)$ and $R_1^*(z, 0)$ are given in equation (40), (41) and (42).

We define,

$$P_B(z) = P_0^*(z, 0) + P_1^*(z, 0) + R_2^*(z, 0) \tag{60}$$

as the probability generating function for the number of customers in the orbit when the server is on busy period (Not working vacation Period). Where $P_0^*(z, 0)$, $P_1^*(z, 0)$ and $R_2^*(z, 0)$ are given in equation (56), (57) and (58).

We define,

$$P(z) = P_V(z) + P_B(z) \tag{61}$$

as the probability generating function for the number of customers in the orbit irrespective of the server state. Where $P_V(z)$ and $P_B(z)$ are given in equation (59) and (60). We shall now use the normalizing condition $P(1) = 1$ to determine the unknown $Q_{0,0}$ which appears in (61). Substituting $z = 1$ in (61) and using L'Hospital's rule, we obtain

$$\begin{aligned}
 Q_{0,0} = & \frac{1 - \lambda E(X)E[S_b] - \frac{\bar{\alpha}}{\alpha} \lambda E(X)E[S_{r_2}] - \frac{1 - B^*(\lambda)}{\alpha} E(X)}{\frac{\lambda - \lambda U(z_1) + \eta}{\eta} - [\frac{\alpha - \delta}{\alpha}] \lambda S_{r_2}^{*(1)}(0) - [\frac{1 - B^*(\lambda)}{\alpha} - \lambda S_b^{*(1)}(0) S_v^*(\eta)] [\frac{(\lambda + \eta)\delta + [(\alpha - \delta)S_{r_1}^*(\eta) - \alpha U(z_1)] [\lambda + \eta A^*(\lambda + \eta)]}{\lambda + \eta - [\alpha S_r^*(\eta) + \bar{\alpha} S_{r_1}^*(\eta)] [\lambda + \eta A^*(\lambda + \eta)]}] } \\
 & + \frac{1 - \lambda E(X)E[S_b] - \frac{\bar{\alpha}}{\alpha} \lambda E(X)E[S_{r_2}] - \frac{1 - B^*(\lambda)}{\alpha} E(X)}{\lambda S_{r_2}^{*(1)}(0) S_{r_1}^*(\eta) [\frac{(\lambda + \eta)\delta - [(\alpha - \delta)S_r^*(\eta) + \bar{\alpha} U(z_1)] [\lambda + \eta A^*(\lambda + \eta)]}{\lambda + \eta - [\alpha S_v^*(\eta) + \bar{\alpha} S_{r_1}^*(\eta)] [\lambda + \eta A^*(\lambda + \eta)]}] }
 \end{aligned} \tag{62}$$

4. PARTICULAR CASES

Case (i):

Suppose that the arrival is single, there is no retrial and no starting failures by setting $B^*(\lambda) = 1, A^*(\lambda + \eta) = 1, X(z) = z$ and $\alpha = \delta = 1$ in (61), we get

$$P(z) = P_V(z) + P_B(z) \tag{63}$$

Where,

$$\begin{aligned}
 P_V(z) &= \frac{[1 - S_v^*(\lambda - \lambda z + \eta)] [z - z_1] \lambda z Q_{0,0}}{[\lambda - \lambda z + \eta] [z - S_v^*(\lambda - \lambda z + \eta)]} \\
 P_B(z) &= \frac{[1 - S_v^*(\lambda - \lambda X(z) + \eta)] \eta z [1 - S_v^*(\lambda - \lambda X(z) + \eta)] - [1 - U(z_1)] [\lambda - \lambda z + \eta] [z - S_v^*(\lambda - \lambda z + \eta)]}{[1 - z] [\lambda - \lambda z + \eta] [z - S_b^*(\lambda - \lambda z)] [z - S_v^*(\lambda - \lambda z + \eta)]} \\
 Q_{0,0} &= \frac{1 - \lambda E(X)E[S_b]}{[\frac{\lambda - \lambda z_1 + \eta}{\eta} - \frac{1 - z_1}{1 - S_v^*(\eta)}]}
 \end{aligned}$$

Equation (63) is well known probability generating function for number of customers in the orbit of an $M/G/1$ queue with multiple working vacation (Takagi (2006)) irrespective of the notation.

Case (ii):

If there is no retrial, arrival is single, no starting failures and the server never takes vacation [by setting $B^*(\lambda) = 1, A^*(\lambda + \eta) = 1, X(z) = z, \alpha = \delta = 1$ and $\eta \rightarrow \infty$ in (61)], we get

$$P(z) = \frac{S_b^*(\lambda - \lambda z)(1 - z) [1 - \lambda E[S_b]]}{S_b^*(\lambda - \lambda z) - z} \tag{64}$$

Equation (64) is well known probability generating function of the steady state system length distribution of an $M/G/1$ queue (Medhi (2003)) irrespective of the notations.

Case (iii):

If the server never takes the vacation, the arrival is single and no Starting failures then taking limit $\eta \rightarrow \infty$ and put $X(z) = z$, $\alpha = \delta = 1$ in (61), we get

$$P(z) = \frac{[B^*(\lambda) - \lambda E[S_b]] [1-z] S_b^*(\lambda - \lambda z)}{B^*(\lambda) [1-z] S_b^*(\lambda - \lambda z) - z [1 - S_b^*(\lambda - \lambda z)]} \quad (65)$$

Equation (65) is well known probability generating function of the orbit size distribution of an $M/G/1$ retrial queue (Gomez-Corral (1999)) irrespective of the notations.

Case (iv):

If no starting failures then by setting ($\alpha = \delta = 1$) in (61), we get

$$P(z) = P_V(z) + P_B(z) \quad (66)$$

Where, $P_V(z) = \frac{N_V(z)}{D_V(z)} Q_{0,0}$ and $P_B(z) = \frac{N_B(z)}{D_B(z)} Q_{0,0}$

$$N_V(z) = \lambda [1 - A^*(\lambda + \eta)] [\lambda - \lambda X(z) + \eta] [X(z) S_v^*(\lambda - \lambda X(z) + \eta) - U(\square_1) z] + \lambda [1 - S_v^*(\lambda - \lambda X(z) + \eta)] [(\lambda + \eta) X(z) - U(z_1) [\lambda X(z) + (\lambda - \lambda X(z) + \eta) A^*(\lambda + \eta)]] + [\lambda - \lambda X(z) + \eta] [(\lambda + \eta) z - S_v^*(\lambda - \lambda X(z) + \eta) [\lambda X(z) + (\lambda - \lambda X(z) + \eta) A^*(\lambda + \eta)]]$$

$$D_V(z) = [\lambda - \lambda X(z) + \eta] [(\lambda + \eta) z - S_v^*(\lambda - \lambda X(z) + \eta) [\lambda X(z) + (\lambda - \lambda X(z) + \eta) A^*(\lambda + \eta)]]$$

$$N_B(z) = \lambda \eta z [1 - S_v^*(\lambda - \lambda X(z) + \eta)] [(\lambda + \eta) X(z) - U(z_1) [\lambda X(z) + (\lambda - \lambda X(z) + \eta) A^*(\lambda + \eta)]] + \lambda \eta [1 - A^*(\lambda + \eta)] [\lambda - \lambda X(z) + \eta] [X(z) S_b^*(\lambda - \lambda X(z) + \eta) - U(z_1) z] [z + [1 - z - S_v^*(\lambda - \lambda X(z) + \eta)] [B^*(\lambda) + (1 - B^*(\lambda)) X(z)]] - \lambda [1 - U(z_1)] [\lambda - \lambda X(z) + \eta] [(\lambda + \eta) z - S_v^*(\lambda - \lambda X(z) + \eta) [\lambda X(z) + (\lambda - \lambda X(z) + \eta) A^*(\lambda + \eta)]]$$

$$D_B(z) = [\lambda - \lambda X(z)] [\lambda - \lambda X(z) + \eta] [z - S_b^*(\lambda - \lambda X(z) + \eta) [B^*(\lambda) + (1 - B^*(\lambda)) X(z)]] + [(\lambda + \eta) z - S_v^*(\lambda - \lambda X(z) + \eta) [\lambda X(z) + (\lambda - \lambda X(z) + \eta) A^*(\lambda + \eta)]]$$

$$Q_{0,0} = \frac{1 - \lambda E(X) E[S_b] - E(X) [1 - B^*(\lambda)]}{\lambda - \lambda U(z_1) + \eta - \frac{[\lambda + \eta - U(z_1) [\lambda + \eta A^*(\lambda + \eta)]]}{\lambda + \eta - S_v^*(\eta) [\lambda + \eta A^*(\lambda + \eta)]}} [\lambda E[S_b] S_v^*(\eta) + 1 - B^*(\lambda)]$$

Equation (66) is well known generating function of the orbit size distribution of A bulk arrival retrial queue with exponentially distributed multiple working vacation studied by S.Pazhani Bala Murugan and R.Vijaykrishnaraj [17] irrespective of the notation.

Case(v):

If there is no retrial and no starting failures then on setting $A^*(\lambda + \eta) = 1$, $B^*(\lambda) = 1$ and $\alpha = \delta = 1$ in (61), we get

$$P(z) = P_V(z) + P_B(z) \quad (67)$$

Where, $P_V(z) = \frac{N_V(z)}{D_V(z)} Q_{0,0}$ and $P_B(z) = \frac{N_B(z)}{D_B(z)} Q_{0,0}$

$$N_V(z) = \lambda [1 - S_v^*(\lambda - \lambda X(z) + \eta)] [X(z) - U(z_1) z] + [\lambda - \lambda X(z) + \eta] [z - S_v^*(\lambda - \lambda X(z) + \eta)]$$

$$D_V(z) = [\lambda - \lambda X(z) + \eta] [z - S_v^*(\lambda - \lambda X(z) + \eta)]$$

$$N_B(z) = \lambda \eta z [1 - S_v^*(\lambda - \lambda X(z) + \eta)] [X(z) - U(z_1) z] [1 - S_b^*(\lambda - \lambda X(z) + \eta)]$$

$$D_B(z) = [\lambda - \lambda X(z)] [z - S_b^*(\lambda - \lambda X(z) + \eta)] [\lambda - \lambda X(z) + \eta] [z - S_v^*(\lambda - \lambda X(z) + \eta)]$$

$$Q_{0,0} = \frac{1 - \lambda E(X) E(S_b)}{[\lambda - \lambda U(z_1) + \eta - \frac{1 - U(z_1)}{1 - S_v^*(\eta)} [\lambda E[S_b] S_v^*(\eta)]]}$$

Equation (67) is well known generating function of the queue size distribution of an $M^X/G/1$ queue with multiple working vacation studied by M.I.Aftab Begum (2011) irrespective of the notation.

ACKNOWLEDGEMENT

The work of the second author was supported by University Grants Commission, New Delhi through the RGNF (Rajiv Gandhi National Fellowship) Award No: F1-17.1/2016-17/RGNF-2015-17-SC-TAM-26968/(SA-III/Website).

REFERENCES

- [1] M.I.Aftab Begum, Analysis of the batch arrival $M^x/G/1$ queue with exponentially distributed Multiple working vacations, *International Journal of Mathematical Sciences and Applications*, 1(2), 865-880 (2011).
- [2] J.R.Artalejo, A Classified bibliography of research on retrial queues: *Progress in 1990-1999*, Top, 7, pp 187-211.(1999b).
- [3] J.R.Artalejo, V.C.Joshua, and A.Krishnamoorthy, An M/G/1 retrial queue with orbital search by server, *In Advances in Stochastic Modelling, eds., New Jersey: Notable Publications*, 41-54,(2002).
- [4] O.H.Choo and B.W.Conolly, New results in the theory of repeated orders queueing systems, *J.Appl. Prob.*, 16, 631-640 (1979).
- [5] G.Choudhury, L.Tadj, An M/G/1 vacation queue with two phases of service subject to the server breakdown and delayed repair, *Appl.Math.Modelling*, 31(6), 2699-2709 (2009)
- [6] G.I.Falin, A Single-line system with secondary orders, *Eng. Cybernet. Rev.* 17(2), 76 (1979).
- [7] G.I.Falin and J.G.C.Templeton, Retrial queues, *Chapman and Hall*, London, (1997).
- [8] S.Fuhrman, A note on the M/G/1 queue with server vacations, *Oper. Res.*, 31, 1368 (1981).
- [9] A.Gomez-Corral, Stochastic analysis of a single server retrial queue with general retrial time, *Naval Res.Log.*, 46, 561-581 (1999).
- [10] B.Krishna Kumar, S.Pavai Madheswari, A.Vijayakumar, The M/G/1 retrial queue with feedback and starting failures, *Applied Mathematical Modelling* 26, 1057-1075 (2002).
- [11] A.Krishnamoorthy, T.G.Deepak and V.C.Joshua, An M/G/1 retrial queue with Nonpersistent customers and Orbital Search, *Stochastic Analysis and Applications*.23: 975-997 (2005).
- [12] V.G.Kulkarni, B.D.Choi, Retrial queue with subject to breakdown and repairs, *Queueing System* 7 (2) 191 - 208 (1990).
- [13] K.C.Madhan, An M/G/1 queue with optional deterministic server vacations, *Metron*, LVII, (3-4), 83-95 (1999)
- [14] J.Medhi, *Stochastic Processes*, Wiley Eastern, (1982).
- [15] J.Medhi, *Stochastic Models in queueing Theory, Second Edition*, (2003).
- [16] S.Pazhani Bala Murugan and K.Santhi, An M/G/1 Retrial Queue Multiple Working Vacation, *International Journal of Mathematics and its Applications*, 4(2-D), 35-48 (2006).
- [17] S.Pazhani Bala Murugan and K.Santhi, An M/G/1 Queue with server breakdown and Multiple Working Vacation, *Applications and Applied Mathematics*, 10(2), 678-693 (2015).
- [18] S.Pazhani Bala Murugan and R.Vijaykrishnaraj, A bulk arrival retrial queue with exponentially distributed multiple working vacation, *Journal of Emerging Technologies and Innovative Research*, 5, 1-9 (2018).
- [19] L.D.Servi and S.G.Finn, M/M/1 queues with working vacations (M/M/1/WV), *Performance Evaluation*, 50, 41-52 (2002).
- [20] D.Wu and Takagi, The M/G/1 Queue Multiple Working Vacation, *Performance Evaluations*, 63, 654-681 (2006).
- [21] T.Yang, H.Li, The M/G/1 Retrial queue with the server subject to starting failures, *Queueing System* 16, 83-96 (1994).
- [22] T.Yang and J.G.C.Templeton, A survey on Retrial Queues, *Queue. Syst.*, 2, 201-233 (1987).